R (3 6 KBR)
RFEDZHIKR (FHMTE7 A7)

Bifi . )

2| 20| xuxs ZHIE - WE ZHSHE
1 1A =& [FIHNEFEERZERFEOR (24%7) 10, 000

2 | 1A2B| =& |BF A8 KB ARBHRE|E (249) 15, 000

3 | 7TA4B| =& |RERTHREZEROKIFIEBERZOBRR 4,000

4 | 1A5B| =& |LWEHRBERR 2,000

5 | TRIB| =& [ERBIISKERVEBRRZ (249) 14, 000

6 | 7TH12B| =& |LEHARSLETHETEERBESRIRORRR 95, 000

1 [7R128| =& |[KZZNOBRFIERIEHLEEROBRS 3,000

8 [7TRA13B| =& |BHEITNORKRHE] 1AFTYITEER 6, 000

9 | 7TA171B| =& |HEMANIEITHRIKEBETROBERS 9, 000

10 | 7TA198| =& [BIESERKBERRVEE—LS 95, 000
11 |78228| £& |[ALTY—9/82Y RS (2489) 10, 000
12 | 7TA248| =& |HHEIDIFERZINEREZE/NEFEEESHIXETHR 10, 000
13 |718258| am |[SERCMEGESAETERUEMEIEANO 10. 000
14 | 1TR28B| #E |[ZH— BB TNOFEH] 9, 000
15 | 7TA29B8| =% |ZERERRVBEFTHENRAEREEZESBHR 5, 000

5t

109, 000




